S RIEY RAE

5,
47—o—4<¢
% o
xn.3’ ““““ EIE:3
*X
2 2
7]
= 1 L A
1“\ RN
0 000000000 ——— i
4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 1 1 1
A A A A A A /o /7 /7 7/ 0 0 0
I T v I T v I T v I T v I m v 1 mv / / /
I m Vv
B %4

FELATICRDFyNIFTFRHUDOH#RS (B HAIL)

S RIEY RAE

5 —
4 + @ 7K T A
= /A
s 0w ’
A 3 r :Fﬂ—: [ I, ‘I 1
= Hi4E A !
ﬁ 9 L Al [ ! . !
> ; d AA !
58 ! ! A !
< A i \ i 3
1 ] 1
1 II )
0

FRIAICKDFY/aANTEUNIFERBOHRS (B EMAIL)

S RIEY RAE

80
# 60
=
% 40
8B
< 20

4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 1 1 1
LSS/ /0 00
I T v I T v I m Vv I oI v I ov 1 mv / / /

I m Vv

B/ %4]
JIAFEVRSYTIZLBFY/ANIEUNTEFZ RO (KR TAIL)



S RIEY A

4500 | ——a— K

4000 - A
. 3500 - T FF
A R — s
% 2500 - F
#2000 | RN
s 1500 AoV
F 1000 | v
500 - 4
0 W LT S e T T T BN B T b .
4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 1 1 1
/S S S/ /0000
I T v I m Vv I T Vv I T v I oI v I mv / / /
I m Vv
B/ %4

FEIANIZEDFvN\RTAAALYERB DR (KETAIL)

S RIEY RA

200
— e K X AREDT/V~VIERA
B — T
AL
™ o100 0 A4
%
EE /’l--\\‘
0 ----- TEFTL L \\\\\i- T ! "A‘ T,\\/, S
4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 1 1 1
oSS S/ 000
I mMm v I M Vv I m Vv I M v I mv 1 mVvV / / /
. I I V
A/ %4

TIAEVIIVTICEDFvNRTANALYERBDHERE (BT RIR)

S RIEY R

400
350 - —— ki
5 300 s
ol E— i
4 200 ¢
=~ 150
% 100 -
50 |
0 000000000 -
4 4 4 5 5 5 6 1 1 1
/ /S /S S 0 0 O
I M v I m VvV I / /)
I m V

FRATIZEDVYFNALYFERBDOHERE (IRETAIR)



S RIEY Rt

1400

1

&% 1
)
E3'4

¢

200
000
800
600
400
200

0

A
. —— = e
/ \
L T A4 / \
/ ' \
L H \ A h
] N\ /N ,"\
- / A N
/ VAT
I / ‘.-l’ “\
e L PN
4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 1 1 1
/S S/ /000
I M v I M v I m v I m v I m v I m vV / / /
I I Vv

B/#8
FRLAICEDYVTADALLFRBOHER (B ATRIH)

SRIEY ME

1

1=
Y
=

3.0

20

1.0

0.0

SRIEY ME

3.0
25
20
1.5

F 10

0.5

[ XATEDRAEILS/21IZH,T
—— KE
— FE(5HBETFH)
| - EUE:3
4/29 5/4 5/9 5/14 5/19 5/24 5/29 6/3 6/8
RRYSAEICKDHFIH (DX /AFLUH) BE A RED 15 H-VTERDHR
((3=4 7 N:2))
B X ATEDRAEIL7/2912#T
— e K
i A — FE(5HBETFY)
i Y U Ik
6/30 7/5 7/10 7/15 7/20 7/25 7/30 8/4 8/9

RRYRAEBICEDHFIH DX/ AFLLH) E1HEHARBRO 1BIH-YFTERDHERS
Iz RFHIARE)



XRIEY hE

60
50
40
30
20
10

0

—-_~ O =

A/%4

JIAEVINSYTICEBI0aFhAHS LY FERBOHEFE (B HAIR)
XEE:4/1 ~6/1 (FR27FEE~SHEED 10N FETFEIE)

6/ ~10/VI (513~ H6FEE DINFETH1E)

H~o—=

<NOo —



